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INSTRUCTIONS 

Candidates should attempt Question Nos. 1 and 5 
which are compulsory, and any THREE of the 

remaining questions, selecting at least 
ONE question from each Section. 

The number of marks carried by each question is 
indicated at the end of the question. 

Answers must be written in BENGALI. 

Important Note  

Whenever a question is being attempted, all its 
parts/sub-parts must be attempted contiguously. This 
means that before moving on to the next question to 
be attempted, candidates must finish attempting all 
parts/sub-parts of the previous question attempted. 

This is to be strictly followed. 

Pages left blank in the answer-book are to be clearly 
struck out in ink. Any answers that follow pages left 

blank may not be given credit. 
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Section—A 

1. 1:1)R.1%.5 	 Fa 1 eff 	IN) I (fv.5-ft.-1 
zi11--iz alert ,isivr 100) : 	 12x5=60 

(a) 	 zm14Z-a-r-tmfrtstkl-MroFT.4 

(b) KIM 511IM 	 zil -WTRIC514 
WeN 	91):frzwr5a1 

(c) "f‘crIN ''t\slIzilZM 	WC" 	t9F6RIN !Z4 t 
tcp-4 

(d) 41M 41M -̀371w Ufa 	 -ra 2VIFf nQwsfT 

(e) 7 caltICctKI frzt\T,  
-?1C11.111,9^.1 I 

2. (a) 	.1111 	 "1W,1\ -KL tk7151\3•RbTO.  \NRif CTh 
4-05( .R-c 	cricz offk, 	 20 

(b) fllifk9Ele 	 3I1 r4 

	

114 	2C41C. 	z111; \5714 LQ*IC 
re5- 	I" AtSFCRII cg 

MitfzlqIi4 =1TWrft3 b*C5' 
Wkr—.5* 	 \Tht •511GG11b.11 I 	 20 

(c) ffi'4175zA 	 e 
w-c -r gm-4 cw-cInt nff <NIt ko,rck 	9rIfi-cw51 

20 
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3. 	 : 
	 20x3=60 

(a) "- T:I57Mitr-57-r 	iwc- \s 
cti‘ .t*T3 t'ql-47,MktfT<Ilt 75121 

4-Wq I 

(b) 41 IT \.,14i14 .Rft-T 1174771 TR",51 T54 xiccktc1 Ovi 

twik4,r5P, Cci bell WT I 

(c) 4•RG.N1 cirTh 2c)ick 

‘tjk-M-9k CT ql;I I 

4. 	: 	 6x10=60 

	; 	 W N.tf4F5aq ; 774-‘5r\s= ; 	; wtkfc:iii 

; 	; R.47t-4 ; tt"Wzg-P Calfff4  

WT.P.  ; Ce7WPGT4 419 

Section—B 

5. -Plin*5 Ta‘3i;151t-e - 114-1 r17.11s. 	,V,111911) I (fv.511 

11--‘k.5 araTTW 100) : 	 12x5=60 

(a) 4R1 . 14114 	n-b-Trc;1v 	\sl<l) *2 *sr' 

`mfr 	air'-0 	 e<Pzi t41C011D-IT 

(b) "IMPIC57 

	

	.1.5170 VQ.N C`Zr 	iw•.M 201 

TrzyzI3 *Fcst,  I" 4 43.91 "flCal 

I 

(c) C91- 	7C 	 ,w14.1<pic 1,1 

TR-c--c2t 	a Trlizffi4 sir  
TK491 1)14ci 	tr4 4-7t--4 
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(d) zre ta-)IIRczscr a.crl 	Gwlcm 
-5-M4-a KRIM( t-<frt-a 

TR 

	

	? czr cc}c-rT a*Dtb-Yv-41-44r alawnc-I -Rzicf 
-7t-qI 

(e) T,‘"Wf 31112c.z14 Ws- f-Csf '1T511 

	

Z*7 	4-7t- I 

6. 'CM-nrcz 236Td 	fK : 	 20x3=60 

(a) ctr14 e C fa iterg 
)-1.mt tkiersrk NCI1D-11 	I 

(b) t4Rfa1 'RN 	qW9tiff \.9 15itKCjf 
rfrfitic tilLG-11D-41 a 	I 

(c) "csic.lr cl,ic•rf Wawa Tcr1 	̀C4-krf 
cilrf 	ttr accic. 	1" a -?zr-ar W1 4 

aiiCcii 	I 

7. •IiiGik 
	

20x3=60 

(a) "-,N1r- 	 "e?14 
794cc1* IFCG1 tr-49 \s(.914 deft TfIrk-cti 

Ca1Ca,Rrts14 	 cart 
WO* I" 	fiatait —oft r-Tt- 

(b) 51--0 ft-14-CW c 	a:14 mCa1Gs 47-r11147 

	

,s*-Tricf 	Nc-r crc.514 ? t)-rnwt 
• --cu or-IR 

(c) blaaf b4C9 3 <P1 	1^151C>f `C.4N^IIII<R1 TN-C-4 
9f145-7.51-  r.5r-C14 	z 141011 1 a 	I 
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8. kiRli*z Vffi4'aecl 	: 	 20x3=60 

(a) 1:‘neP-RizEci 771 k31* RtWkim baa6la  
,Ib-ar 1" wrtorP 	 <Kt:1-f? fr),Fk 
1rwarc 'mss •N= 

(b) ""xMb t41. z11:11al$,(1 	511.? 	t-grb-1/44 
r‘, \Tv <pEcie • -7.5Ce.:174 r‘5511 e ‘5M-iWtICD:(f 

F1Z2t -rig* 1Z1 I" 

Trirv.M 'R 

(c) -\5tT51-grn 	a briL64G1 

Th-R.  

* * * 
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